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Topic:- Physics

1) A circular coil A of radius ‘a’ carries current ‘I’. Another circular coil B of radius ‘2a’
also carries the same current of ‘I’. The magnetic fields at the centers of the circular coils are
in the ratio of: /

%41 <2’ e} U JATER FS !, URT 1 BT I8 Bl 8| AT <22’ arelt va 3=
JATPR HSal B, TH URT ‘I’ BT 981 Bl ¢ | TATPR PSiod] & Sl U gadid &8
g U A 3

1. 2:1

2.4:1

3.3:1

4, 1:1

Correct Answer :-

e 2:1

2) The total current produced in a conducting loop, when it is moved in a magnetic field
depends on: /

Wq U Hdg U ($Sfaetl qU) H SdIed $o YRT DI Th Gab1g &7 H RIHidRd
far sirar 8, 9 g Ay R Ak wRar g

1. Total change in magnetic flux and the resistance of the conductor /
JaP 1T YaTe H o URac IR Hargd &l UieRkiY
2. The final magnetic flux only / Fad 3ifad W YUdlg

3. The rate of change of magnetic Tux only 7 B A G I UATg & URTcT DI G2
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frad e W teRAS A9 @1 Hier fafkry S gl 8
1.3/2R
2.72R
3.R
4.5/2 R

Correct Answer :-

« 52R

The equation of motion of simple harmonic motion is: /

TR 3fTae Tfd & forg nifer o1 Tl 8:
1. (d2y)/(dt?) = -0?

2. (Py)/(de) = -0y

3. (d2y)/(dt?) = -0\t

4. (d%y)/(dt?) = -02t

Correct Answer :-

o (d?y)/(dt?) = -w?y

The area of the circle is measured as 0.007 m2. The number of significant figures in this
quantity is: /

A & & B 0.007 HI2 WTUT 7T ¢ | 57 AT A Ugaqul sfiws! B H&IT 3:
1.4

2.2

3.3
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TP TR I IURI-BTE & YIS & HISqH A ggar g1 afe A, 3 A, &l figsi w®
TI5U & UTT & SJURI-PIC & 3R v, Td v, HHRT: 5 fagsii WaRa & A g, a1 57
ﬁgﬁwm%aﬁwwﬁvl/vzmz

1. Ay 1A,

2. Ay/A,

3. A1A,

4. 1/AA,
Correct Answer :-

. Ay/A,

One volt emf is generated in a coil when the current through it changes from 0.1A to 0.2A
in 600ps. The self-inductance of the coil is: /

U $Sal § UP diee SUHUD IUd BIdT & SId SHP ATHH | TORA arell YRT 600us A

0.1A | 0.2A H 9¢d AATdI 8 | Sl BT W-UR0T
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2. 600uH
3. 600 mH

4, 6 mH

Correct Answer :-

« 6 mH

9) A man weighing 55kg supports a body of 20 kg on his head. The work done by him
against gravity, when he moves a distance of 20m is: /

55 3 &1 Te safd, 3ruq RR R 20 5 &1 v fRema T@ar 81 Tea & fave s 39
R forar T Hrf a1 B, 19 9% 20 Hew B g aa a1 8:

1.400J
2.1100J

3. Zero / YU
4.150017J

Correct Answer :-

10) If a bar magnet of magnetic moment ‘m’ is placed in a magnetic field of intensity B such
that it makes an angle O with the direction of B, then the potential energy of bar magnet is: /

‘m’ YID I SATYU! T TP &S YIP DI YT B T TP GBI & H 9 YR @l
1T 8, {5 g% B 3 3= & A1y T ®1vr 0 9911471 8, <8 gao @1 fRAfas Sel &

1. mB sin©
2. mB (1 + cosO)
3. mB (1 - cosO)

4. -mB cosO

Correct Answer :-
e -mB cosO

11) If a shell fired from a gun at an angle to the horizontal explodes in mid air, then the
center of mass of the shell fragments will move: /
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1. Horizontally / afas

2. Along the tangent to the parabolic path of the intact shell which was moving / 3{&d Ad P
RIS UY I W] & F1Y T B o TfaRiie ot

3. In the same parabolic path along which the shell was moving before it explodes / 341 IRaald Ty
¥ o we ¥ ugd < T IR @1 AT

4. Vertically down / G&ad =d &1 MR

Correct Answer :-

 In the same parabolic path along which the shell was moving before it explodes / I Al 9y
 forad wes ¥ Ugd Rd TIfd R @1 T

In a sample of radioactive material, what fraction of the initial number of active nuclei
remains undecayed after half of the half-life of the sample? /

fsaredf uerd & e TR °, afteg T @ yRAIS T.n 1 S i TR &
IS & MY I & 915 e Igar ?

1. 1A2
2.2

3. %

4. 1/272

Correct Answer :-

. 112

Electromagnets are made of soft iron because: /

faegd g% (FaeFe) ¥ g & §1 8id &, FIfP:

1. It has high permeability and low retentivity. / 35 3= URITRIT 3R 9 3R g g

2. It has low susceptibility and high retentivity. / 394 Ay HUTeIdI 3R I 3aRIeH BT g |
3. It has low susceptibility and low retentivity. / 39H 9 JUTEIAT 3R A9 3faRieH BT g

4. It has low permeability and low retentivity. /
9 9 URITRIar iR 9 SraRigF giar 3|
Correct Answer :-

« It has high permeability and low retentivity. / 3HH I URITRIT 3R 9 SfaRIYA BT 5|
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14) Let n, and ny, represent the number density of electrons and holes in a semiconductor.
Which of the following is a CORRECT relation? /

A AT o n, 3R n, T Srtaras @fidsaer) # saaeAl ok ol 1 v9@ GB
&1 yfafafira #3d 1 F=afefa & @ S19-ar 9y 9 82

1. na>ny, if the semi-conductor is intrinsic. / ng>ny,, g srefamas® A §
2. n, = ny, if the semi-conductor is intrinsic. / n, = ny, , g srefarad e §
3. n = ny, if the semi-conductor is extrinsic. / n, = 1y, gfe srefarasd ST §

4. n.<ny, if the semi-conductor is intrinsic. / n,<ny, afe sfefaras o %

Correct Answer :-

 n, = ny, if the semi-conductor is intrinsic. / n, = ny, , afe srefaras Mo %

15) An ammeter reads up to 1A. Its internal resistance is 0.81Q. To increase the range to
10A, the value of the required shunt resistance is: /

U THICY 1A 9% USdl g | SHHBT 3Mdi¥e® UfaRIY 0.810 8 | HHHT S Bl 10A TP TeH &
fere srrazyu® v ufoRiY &1 A ©:

1. 0.03Q2
2. 0.9Q
3. 0.09Q

4. 0.3Q

Correct Answer :-

« 0.09Q

16) A compound microscope has the magnifying power 30. If the magnifying power of
objective lens is 5, then the magnifying power of eye piece is: /

U YYad AR (PSS HISHIPIT) $1 ad &Har 30 81 ey |9 #t smadq
T 5 8 | AAPT P mae &rvan

1.35
2.25
3.6

4.3

Correct Answer :-
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lens of focal length 10cm.
The power of the combination of these lenses is: /

20 A BIvd FETS AT TP I9d dd, 10 I Bl d daTs aTd TP 3ddd ad & JUs

A 21 391 ANl & T P & B
1.-5D

2.-10D

3. 10D

4. 5D

Correct Answer :-

« -5D

Two waves originating from two coherent sources, S; and S, will show complete

destructive interference at a point ‘P, if S;P — S,P = ./

& G |l A SOH & A S, 3R S, T fag ' wR ot faAm=it afasmor qxifeh,
afe s,P-S,P =

1. 3V4
2. 602
3. 902
4. 5\

Correct Answer :-

. 92

Two forces of 200N and 120N are inclined at an angle of 60°.The resultant force will be: /
200 N 3R 120 N & I 9 60° & P07 R 3T g | IRt 5 gm:
1. 180N
2. 40N
3. 280N

4. 340N

Correct Answer :- )
www.FirstRanker.com
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20) A wire of resistance RQ is cut into ten equal parts which are then joined in parallel. The
new resistance is: /

UfaRIY RQ 9TA U R &1 gH SRTER U & BTeT SITdT g fb 38 IR & SIS SITdn
%I wuﬁﬁﬂ%:

1. 100R Q
2. 10R Q
3. R/100 Q

4. R/10 Q

Correct Answer :-

« R/100 Q

21) A conductor carries a current of 60pA. If the area of cross-section of the conductor is
30 mm?, then the value of current density is: /

TP AT (HSaEY) 60pA URT BT 98- HIdT ¢ | TS AT (FSaeR) & JuRI-
PI¢ PT ATFd 30 A2 §, a1 YRT 99 &1 A ©:

1. 0.5 A/m?
2.2 A/m?
3.1.5 A/m?

4.1 A/m?

Correct Answer :-

22) An ideal gas has r.m.s. speed ‘v’ at temperature ‘T’. The r.m.s. value of speed of
molecules of the gas at temperature ‘2T’ is:/

TS TSR I B AU T W ram.s I76 'V 81 2T 909 W T & (u[3ii 3 1 o1
r.m.s 'FI'F-I€ITIT:

1. 2v
2. 4v

3. 242v

4, \2v

www.FirstRanker.com
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ald
2. Stress / Uil
3. Young’s modulus / T ATUIH
4. Power / QIfa<l

Correct Answer :-

o Power/ Tfad

Two point masses at a given distance exert a gravitational interaction force on each
other equal to 'F'. If one mass is doubled, other is halved and the distance between them
is doubled, then the resulting interaction force is: /

& 1% g8l W QY g 5™ 'F & ISR Th-goik R [y 3id: foran aa @ 81 afe ue soamm
ﬁaﬁg;n, TR B YT FR far 9 SR S dHg F gt QN R & 9, @Y aivomdt sia: foma
qd :

1. F/2
2.4F
3. F/4

4. 2F

Correct Answer :-

- F/4

Two point charges at certain distance apart in air repel each other with a force ‘F'. If a
glass plate is introduced between the charges, then the force becomes F1. Which of the
following is the correct relation? /

ga1 ¥ fAif3a g&f wR Ry« g1 g smawr 9@ <7 & A1y Uoh-gek ! i fa sva &1 afe
T & §H TP S B Wi TS oIidl @ df 96 F, 81 o1 8 | F=faf@a § § w9
g AdY 82

1.F1:0

2. Fl = F
www.FirstRanker.com
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v e I 3mad i fpart<ad @3 381 8 | 59 A fRIfa A st fawumu= 4 I+t
:ﬁ;f;s%:hﬁ%,?hsﬂﬁaﬂm: 1099 3R sAH/A 1 5T A 3ATdd T Bt G
d :

1.7 /2 second / 1t /2 YH S
2.7 second / © Y&HS
3. 3m/2 second / 3 1 /2 AP S

4. 21 second / 2 T 9HS

Correct Answer :-
o T second / T 9HS

If the value of escape velocity on a certain planet is 2 km/s, then the value of orbital
speed for a satellite orbiting close to the surface of that planet is: /

o - www.FirstRanker.com - -
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IFP A dTel TP A ATSC Bl Dy a1 BT A Id38:

1. 1 km/s
2. 2N2 km/s
3. V2 km/s

4. 10 km/s

Correct Answer :-

e \2 km/s

29) A man is riding on a cycle with velocity 14.4 km/h up a hill having a slope 1 in 20. If
the total mass of the man and cycle is 100kg, then the power of man is: /

U i 14.4 /e & 37 TP TS & FWR AEfed aa1 @ g, Saprera 20 491 21
gfe emeHt 3R ATsfrd 1 $o sud™ 100fFUT 8, @ TS &1 fad 3:

1. 49W
2.294W
3. 98W

4. 196 W

Correct Answer :-

« 196W

30) A solid cylinder of mass 24 kg rotates about its own axis with an angular speed 100
rad/s. If the radius of the cylinder is 0.25m, then the kinetic energy associated with the
rotation of the cylinder is: /

24 fFAUTH SaH $T TP 319 96 100 rad/s &1 HIUNT are I 3o ¢t wR grar g1 afe de
3t I 0.25 Hiex 3, @t 909 & guia A JI faw St &

1. 35007
2.3125]
3.3750]

4. 3250J

Correct Answer :-

e 3750]

www.FirstRanker.com
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1) Following are a group of Nitrogeneous bases present in Nucleic acids. What is the total
number of Pyrimidines in this group?

Uracil, Guanine, Thymine, Adenine, Cytosine /

AT et o WiN[g ATSeIoHIg &R®I &1 U Jqg fAufiafad &1 39 99g o
R @ pa e FTR?

R, e, yrafdE, Tefae, ageRe
1.4
2.2
3.5

4.3

Correct Answer :-

2) Arrange the following ions in the decreasing order of stability. /
fRRar & ged wa A Fufafed smat ot orawT #3¥1

Hy", Hy , Hy

1.Hy>Hy =Hy"

2.Hy>Hy" > Hy~

3.Hy >Hy>Hy*

4.Hy," >Hy, >H,

Correct Answer :-
° HZ > H2+ > HZ B

3) Which among the following is an essential amino acid? /
Fufafaa & 9 wi9-a1 smazas i1 ufyrs 82

1. Aspartic acid /Q@Tﬁ 3

2. Lysine / FI'IE‘@F[

3. Glutamic acid / ‘cj\d‘lm ST

www.FirstRanker.com
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Correct Answer :-

o Lysine/ ﬂl%l%l:i

4) Which of the following statements is INCORRECT regarding Terylene? /
fFrafafea o @ s9-a1 Fy= Sd= & S9y o Tad 82

1. Terylene is an example for polyester. /

e TifTRex & folt U Samerul gl
2. Terylene is prepared by the addition polymerization. /

I 1 aRae TgadIHul gRT dIR bl S g |

3. The catalyst used for the preparation of Terylene is a mixture of zinc acetate and
antimony trioxide./

éﬁ?ﬂ?{aﬁ;ﬂﬁ‘r%msﬁﬂmmwﬁ el SRS i Tifiee 3R T Tz eiiags
CANEE

4. The monomers used for the preparation of Terylene are ethylene glycol and
terephthalic acid./

ﬁ?ﬁﬁﬁ%%ﬁs%&ulﬂmwﬁ are HAY, TRl g eia 3R evrifere sr
BId gl

Correct Answer :-

o Terylene is prepared by the addition polymerization. /

A @t aRkael TgadIHu gRT dOR fha S g |

5) When the vapours of tertiary butyl alcohol are passed over heated copper at 573K, the
product formed is:/

WF qoU® YLIsd Uedhigd $I aTsd Hi 573 K TR TH did & HUR A ORI 1T 8,
fafifa Iare 8:

1. 2-Methyl propanal / Z&IWW
2. 2-Methyl propene / 2-1?[2413?{%
3. Propanone / 9T0AIF

4. Butanal /wﬁ_"l?’f

Correct Answer :-

« 2-Methyl propene / 2-THYUTSA UITH

www.FirstRanker.com
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6) The equilibrium constant for a reaction is 10. If R = 8JK~! mol! and T = 300K, then

what will be value of AG’ for the reaction?/

T AfUfhaT & fore AraTawT fRRIF 10 81 afR R =8IK~" 1 mol ~1 3R T =300 K& a1
3fferar & fie AG? &1 HIF T ghIT?

1. (-)5.527 kKJIK 'mol!
2. (-)55.27 kIK 'mol™!
3. (-)5527 KJK Tmol ™!

4. (-)552.7 kIK 'mol™!

Correct Answer :-

e (-)5.527 KJK 'mol ™!

7) The half life period of a first order chemical reaction is 6.93 minutes. The time required
for the completion of 99% of the chemical reaction will be:/

Y Hife IR ifufrar Y arsiy 6.93 e 81 Imafae sifufssar & 99, a@
R ER & T srawas 9#y ghm:

1. 460.6 minutes / 460.6 TH-E
2. 46.06 minutes / 46.06 T8¢
3. 23.03 minutes / 23.03 &

4.230.03 minutes / 230.03 & e

Correct Answer :-

. 46.06 minutes / 46.06 & c

8) The rate of a chemical reaction doubles for every 10°C rise of temperature. If the
temperature is raised by 50°C , then the rate of reaction increases by:/

TS IS AfUTHar @t g3 araaE § Ul 10°C §ig & Ty L 81 At g1 afe
ATYHT 50°C deb g1 feuT sirar €, ar sifHferar &) &= 9¢ sertt:

1. 10 times / ¥ T[T
2. 24 times / 24 Tl

3. 64 times / 64 Tl

V. lie Xa WS 20 TTOT
T J LTIV S J é LIl

Ci D 1
WWW.FITslRaltker.COIrl
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« 32 times /32 I

9) An element having atomic mass of 75 crystallizes in a cubic lattice with edge length of 5A°,

If the density of the element is 2gcm ™ 3, then find the radius of the metal atom./

TRYTY] SqHTH 75 el U dcd, 5A? Bad awErs & 91y ¥4 J1a® 4§ fhvedipd
gia1 31 Ife I &1 9@ 2gem -3 B, dF YUTg URHATY] Ht Hear g1a S|

1.9.750 A®
2. 8.660A°
3. 2.165A°

4. 6.495A°

Correct Answer :-

« 2.165A°

10) What is the effect of temperature on the radioactive decay constant? /
fEatet ara RRT® W arawT= &1 F1 YHTE g 82
1. The radioactive disintegration becomes 4 times. /

et faged 4 T 8 ST B

2. It will remain unaffected by change in the temperature./

dTIH H dedd I 98 fUYIfdd I8!

3. It will reduce to half with every 10 rise in the temperature. /
g aruqH H Udes 100 gfg & 1Y gThx ST gl SITE |

4. Radioactive decay constant becomes double with every 10 rise in the temperature./

T § gl 100 gfa & ard XA &g fRRI% a1 81 srar g |

Correct Answer :-

« It will remain unaffected by change in the temperature./

AgH H geard 9 Ig SuHIfad T |

11) In an experiment, it was observed that the enthalpies of combustion of carbon and

carbon monoxide are -393.5 kJ mol T and -283 kKJ mol respectively. Calculate the
www.FirstRanker.com
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U UURT A, ug Uferd far sirar g {6 erd iy w1 Aieiiaags & g8+ o T«
HHTT: -393.5 3N -283 kJ mol ~ ! §1 kJ mol ~ | A BT AN ST & fAHTUr F) TARG
Pt MUET DI

1.110.5
2.676.5
3.(-) 110.5

4.(-) 676.5

Correct Answer :-

. (1105

12) For a given shell in an atom, which one of the following electrons in an orbital will have
the maximum negative energy value? /

fopeft ueaTy  fRE U R ¥ e, e war § Frufafad saaei 3 @ fead siftrean
TPRIHD SHell I §RI?

1. F
2.5
3.P

4.D

Correct Answer :-

13) A compound is made up of three elements X, Y and Z. X atoms are present at each
corner of the unit cell, Y atoms are present on each edge and Z atoms are present in the
centre of each face. The formula of the compound is:/

T NS 9 ael X, Y iR z | e 591 g 8 1 IRu X, gfAe A9 & Ul S A
IURRIA B, Y TRUTY TS IR TR IUFRIT & 3R Z TRA] TS Bad & % A SR
2 | R &1 g g m:

1. XY Zs
2. XY3Zg

3. XY3Z;

www.FirstRanker.com



:l », FirstRanker.com

A Firstranker's choice _ .
www.FirstRanker.com www.FirstRanker.com

www.FirstRanker.com



[’l » FirstRanker.com

J._ rstranker's choice . )
: IEJ www.FirstRanker.com www.FirstRanker.com

17) Which of the following has the lowest entropy? /
B & Foreet o v o B

1. Oxygen gas at 25°C / 25°C IR SffRfie T

2. Oxygen gas at STP / TSI OR TS oS

3. Oxygen gas at 30°C / 30°C IR SffRfie g

4. Oxygen gas at 0K / OK TR 3{Tqior g

Correct Answer :-

« Oxygen gas at 0K / OK TR 3{Tqior g

18) Which of the following pair will show common ion effect? /

Frafafaa # | 19-91 g0 9= Sira gy fearem?

1. Barium chloride and barium nitrate / SRTH FARTSS 3R aRaH '_‘lT_i"E_C’

2. Silver cyanide and potassium cyanide / e OreIgS 3R TreRrm NIERIES]
3. Sodium stearate and sodium chloride / TSTH TR 3R feTH FRTSS

4, Sodium chloride and hydrochloric acid / aifsay dﬂ\lilss 337 6I$§\Id'c‘l\li§0h 3R

Correct Answer :-

. Sodium stearate and sodium chloride / TfeTH TR 3R AifeaH a?’hﬂs‘s

19) Which of the following compounds has the highest value of Van’t Hoff factor?/
frefofea ¥ 9@ few 9iffre o are 31w urie &1 S=ad a9 gaT 8?2

1. Ca(NO3),

2. K3[Fe(CN)g]

3. K»,SOy4

4. Aly(SOy)3

Correct Answer :-

o Aly(SOy)3

www.FirstRanker.com
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the same reaction would be completed approximately in:/

afe gyw dife sfuferar o1 60% , 60 fiTe & RT 81 1T U1, AF I Siflfohar &1 50%
T S IHT W IRT B SIE:

1. 40.31 minutes / 40.31 & e
2.50.31 minutes / 50.31 f&-e
3.55.31 minutes / 55.31 f&Fc

4, 45,31 minutes / 45.31 fiFe

Correct Answer :-

e 45.31 minutes / 45.31 fiFe

21) Two subatomic particles (X, Y) are moving with different velocities. If the

wavelength of particle X is 10 x 10"8m, then what is the wavelength of particle
Y if its momentum is one-fourth of X?/

3 SRHAIaP BT (x, v) fafd=1 A & vy wfashia &1 afe wor x &t a3 eed 10 x 108
ez 8 @ ST Y #9371 o 7 e, afe 39T Haw X & Haw &1 v 9uTs 87

1.4.0 x 10~’m

2.0.625 x 10™%m
3.16.0x 10 'm

4.2.5%x10"%m

Correct Answer :-

e 4.0 x10~/m

22) The type of isomerism exhibited by the given pair of compounds — ethyl
benzoate and butanoic acid is:/

faw T WY - Tfe Seive iR sgefae virs & g g1 weRfa JuTauadr &1 yeR

1. Linkage isomerism / feidool JHTGIA]

2. Functional group isomerism /WWW

3. Coordination isomerism / HHAdY JH[JYI ]

4. Geometrical isomerism/@T&l?ﬂﬂﬂﬂmaﬂT

Correct Answer :-

www.FirstRanker.com
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¢ bonds = 8 7 bonds = 1/

a E’IE_H: B HE’IE’:H =k
o bonds =6 7 bonds = 3/

a EiEH= B HH'EEH =2k
¢ bonds =7 7 bonds = 3/

o) Eﬁ?ﬁT= 7 TIE'IT:;'R'-I =3
¢ bonds =7 7 bonds = 2/

a HEH= Fi ?IH'E:"H =2

www.FirstRanker.com
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o diga=7 mdlsd =2
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250z + 0Oz =— 2503 + Heat/
39 Aefei@a wihar 7 so; 3 @1 5T YHR 3 gervar

250 4+ 07 = 250: + FTHAT

www.FirstRanker.com
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A gene of 600 nucleotides will code for a polypeptide chain of amino acids. /

600 gfFAINCTZTS BT TP S mmﬁwuﬁﬁ—g@'ej@m$m
FeaH (BIS) P

1. 200
2.202
3.300

4. 198

Correct Answer :-

« 200

Okasaki made his contribution in genetics to the understanding of: /

i} o . - www.FirstRanker.com -
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1. Protein synthesis / PIGIERSELLY
2. Z-DNA/ Z-g|Q3Q
3. Mutation / SR

4. DNA replication / S1TUT Ufddhid
Correct Answer :-

« DNA replication / g'QqQ m

Respiratory Quotient of anaerobic respiration is: /
AT 4H BT 0 U §Idl &
1.0
2. Zero / [
3.>1

4. 1

Correct Answer :-

The undifferentiated sheath which encloses root cap in a monocot seed is termed as:/
AN B &Y Tpdie= et & gt MU (¢ $U) B Hay Hd1 8, P s e:
1. Coleoptiles / W ard
2. Coleorhizae / AP EI|
3. Calyptrogens / HIEEAvE]

4. Calyptras / 3T iiecy
Correct Answer :-

« Coleorhizae / GATHR AId

Choose the most correct reason for the development of PEN that precedes the
development of zygote (embryo) in angiosperms. /

%EN$%ﬁmégmqﬁwiﬁﬁ%Qﬁmﬁwﬁﬁw(m$mﬁanﬁ
S
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2. The endosperm ensures nutrition for the embryo. / ﬂZ[UTEh'E[’ Hur & for gy ﬁ&l@ﬁ FRAT g
3. PEN is triploid so it divides first. / PEN IO & 30fed I8 ugdl fquiford gian g
4. All of these / STYHd T+t

Correct Answer :-

+ The endosperm ensures nutrition for the embryo. / qZ[UTEﬁ'EL Hur & forg gy ﬁﬁf%?[ FRAT g

Alcohol fermentation by microbes to obtain different types of alcoholic beverages is
mainly based on the: /

fafta R & Ure® U9 UTe $R1 & T geHeiial gRT Siehigd fhvad &1 & U 3
WGIT%I'Iﬁ_cT%

1. Distillation process only / Had 3fTHa- Uisha

2. All of these / STHd T+t

3. Type of nutrient medium only / Fad UN® H1egH BT UHR
4. Type of brewer’s yeast used only / Pad dR GHR & TSR BT A

Correct Answer :-

« All of these / SUgpd Toft

Prothallus is an independent gametophyte seen in: /

WA U Wad D Igg (HCIBIEe) §, Wil 3T QT SITaT &:
1. Thallophytes / J@HTZCY

2. Bryophytes / ﬁ'@m

3. Pteridophytes / R eIBIZCH

4. Angiosperms / 3fTgdsien (RaRTH)

Correct Answer :-

« Pteridophytes / él?éﬁﬁlﬁaﬁ

ABA acts antagonistic to which hormone with regards to seed and bud dormancy? /

a9 3R weil fAfSpaar & e & forg g & forg ABA UfeRIeh & U & o1 Hear g2

= DR e e ]
1. CYLOKIIIIT 7 NITQCTHZTRQITTT
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TSI TSI g (HeIwIge) B SIF-IW FHIRIST Yoray s+t HIRTeT (TSiaud 7
ﬁm%wﬁmaﬂ?ﬁév

1. Synergids / Hald m
2. Central cell / &g DI
3. Antipodal cells / ufderid m (Q‘c"luﬁtc'x«r W)

4. Egg / 38T

Correct Answer :-

« Central cell / W IR

Which one of the following is NOT a functional unit of ecosystem? /
rafufed 4 @ o9 iR a1 3 ve srafas gors T8 82
1. Energy flow /Wrﬁq?ﬂg
2. Stratification / ¥RIBRUI
—3 NUtent cyching 7 Y& aTer Irsh 0T

www.FirstRanker.com



[’l » FirstRanker.com
!r. Firstranker's choice www.FirstRanker.com

Correct Answer :-

o Stratification / TRIHIOT

www.FirstRanker.com

12) Which one of the following nitrogen base is present in DNA but NOT in RNA? /
Frafafea o @ 9-a1 Ao 99 ST A Hivg € dfed uae # 781

1. Cytosine / TSI

2. Uracil / 3R

3. Guanine / ‘IeﬂTﬁFf

4, Thymine / e

Correct Answer :-

e Thymine / e

13) Which among the following is a hybrid variety of rice developed in India? /

fFrafafed & 9 $19 YRd § A Rd a9 o e g fFw 2
1. Himagiri / fgAMR

2. Semi dwarf rice / GEHT ATad

3.Jaya / ST

4. Pusa swarnim / Q&1 @y

Correct Answer :-

14) Which among the following is the pioneer species during hydrarch succession? /

fFrafafaa ¥ 9 o9 sar Wt srgwaur & SR srroft wfa 82
1. Small phytoplanktons / BIC UIGUwIdd
2. Free floating angiosperms / ! GAlfeTT Qﬁl’cnmﬁ

3. Grasses / YTH
4. Rooted hydrophytes / g G QSICE cdH

Correct Answer :-

fal 11 1 " 1 14 A\I-) LIl ULl od al olo
¢ ollldll PIIYLOPIAIISNTOILS 7T Te MT/H TS/
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ufsgicH
4, Pteris / él?ﬂ

Correct Answer :-

« Salvinia / Seal=T

Which of the following is WRONGLY paired? /
Frafafea 9§ «19-91 Taq g 82
1. Water of coconut : free nuclear endosperm / ATRIT &1 T Had BlIRCHc) ﬂiUTCnW
2. Kernel of coconut : cellular endosperm / ATRIS b TR HIRIBIY ‘J{UTCh'Gf
3. Scutellum : embryo of coconut /HRAc[h: ATRIS BT Hur

4. Shell of coconut : fused pericarp and testa / TTRT T Wd: el HATHRT (RS Wdrd) 3R
Sioraid (T¥eT)

Correct Answer :-

« Scutellum : embryo of coconut /MR h: ATRTE 1 Hul

Cotton and jute are crops. /

- - www.FirstRanker.com
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1. Cash /:ﬁo—cﬁ

2. Hilly / ggre!
3. Rabi / 3t
4. Kharif |/ TRI%

Correct Answer :-

o Kharif / TR®

19) The enzyme recombinase is required in which stage of meiosis? /

U= & 59 =Rur ¥ Torgw gaie (RepiHaiee) &t snazadwdr gkl 82
1. Pachytene / JYdUS (ﬁ?f‘s‘e"l?r)

2. Diplotene / IESICE]

3. Zygotene / ST i
4. Diakinesis / ORIT(cIshH

Correct Answer :-

« Pachytene / JYUS (W)

20) Trace elements are those elements that are required in small quantities of: /

o dcd (Y& ddqd), TH a4 81d & o1 (59 am # Sma=aswdr gl o
1. 0.1 mmole/kg / 0.1 foeHIa/faum

2. Less than 10 mmole/kg / 10 e/ feammd ¥ &1

3. Less than 1 mmole/kg / 1 foreftae/fereuy @ 0

4. Smmole/kg / 5 THeA@/ B @

Correct Answer :-

o Less than 10 mmole/kg / 10 e/ feaumd ¥ &1

21) The type of chromosome with the centromere at the centre is: /
&% U TURETAG (AEHR) & 1Y TORE &1 UPR &
1. Telocentric /?:’(vﬁ@'@a?m 3fddhg]

N U o Y hUaN
7. Sub-metacentric /7 S u- Helh &l al J8-HCIRIC D
www.FirstRanker.com
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2. Apomixis / 3T
3. Vegetative reproduction / CAIRCACEEE]
4. Parthenogenesis / 3@

Correct Answer :-
« Apomixis / 3EITS

The purpose of blanching (boiling in water) vegetables before freezing or canning is
to: /

feftewor a1 fesaradl @ vsa afosral &t saifet (U & SaTeq) #3A &1 3exa A glar 8:
1. All of these / STGdHd THt

2. Only soften vegetables and make them easier to pack. / Fad giewal BT A I 3R I U P |
3§ & e

3. Only inactivate the enzymes that cause loss of flavour, texture and colour. /

www.FirstRanker.com
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CAINEAREE)
3. Granules in the cytoplasm / PHIRABT GH Wﬁa’qﬁfﬂﬁ) A mﬁ
4. All of these / STYHd Tt

Correct Answer :-

« Cell wall / DIRmT fHfT

The minimum length of cistron in base pairs, which synthesis a polypeptide chain of
100 amino acids is: /

RS T ¥ RS ($1®) B gAdu da1s, St 100 A 3a o1 uiferiess yaar &
Twaftd wedt 8, A @

1. 100
2.200
3. 300

4. 400

Correct Answer :-
« 300

If a cell in the stem of a plant has 24 chromosomes, then the number of chromosomes
would be: /

e T N F a3 P Tb HIRABT A 24 UG § a9 TURG BT H=1 gh:

1. 12 in gametes /Wﬁ 12
2. 12 in root cell/nﬁmﬁ 12

e e
3. 24 in gametes / JHDI H 24
www.FirstRanker.com
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Correct Answer :-

e 12in gametes/ﬁ"ﬂﬁﬁ 12

Which among the following statements is INCORRECT regarding the Fluid-Mosaic model
concept given by Singer and Nicholson? /

ﬁaﬁ?aﬁqﬁﬁﬁq-mmwmeﬁ?ﬁﬁmmﬁqwm-mmmm%aﬁﬁm
HY ghe?

1. Phospholipids have a hydrophobic head and a hydrophilic tail. / RGeS H U SR

(ETSSIhIaE) TN 3R Th SR (B2 I fed) Uy 8d 5
2. Lipids are arranged as a bilayer. / foIfUe U fgRd & U § afRyd gid gl
3. Proteins are floating in a sea of lipids. / Fﬁ—cpf:[, INIEEE:D U JHx 7 oRd % I

4. The fluidity refers to the movement of molecules within the lipid bilayer. / qRadI foifUs fgmRa & iR
3fupsit 3t 71 BT Haftfa st Bl

Correct Answer :-

« Phospholipids have a hydrophobic head and a hydrophilic tail. / BIRBIIUS] H T STAdRE]

(@TZSpIaD) T 3R T Ierrl (T3S fhieie) U Bid B

RuBisCO is the most abundant enzyme in the world because: /
RuBisCO (faw!) g & Tad yaR TogH &, Hife:

1. It is required by the green plants for photosynthesis. / g X MY GRT UHTRT WA & 1Y
IS 5 |

2. It can absorb maximum CO, during photosynthesis. / g YDA TIAYUT & SR Sy
CO, B AT B JHdT g |

3. Its active site can bind with both CO5 and O, and is found in leaves. | S9®! Ufdea A1se COy 3R 0y &
Y Y el § R ufcrd & ure St g1

4. It can release oxygen from all the plants in the world. / T8 gfaT & Tt Qe I SfiRfieH ad o Tl 71

Correct Answer :-

« Its active site can bind with both CO5 and O, and is found in leaves. / 3P| Ufded IRe CO, 3R 0] gl
& 1Y §Y bl § 3R U F Ui e B

The cytoplasmic connections between adjacent cells are called ./

3 PIRTPHTSM & d BIRPIEA WS (AT WD HAaRM) PEAC |
1. symplasm / g
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3. plasma membrane / W&o eIl (SHidged &)

4. plasmodesmata / Ugoddq

Correct Answer :-

« plasmodesmata / Ugoddq

Topic:- Zoology

The fluid filled cavity antrum is found in the .
TR A HR 3T BT Blex (HAdt TeH) o urar et 2|
1. tertiary follicle / Jade Gadh (WIicida)

2. secondary follicle / fgdia® Jco CAINETN)
3. primary oocyte /WW%WTWW (3/SP)

4, primary follicle /EIT?AIW gJcoh (Lleracbﬂ)

Correct Answer :-

« tertiary follicle / JdIde & (Blieidha)

Ascorbic acid is also known as: /

CHIGD P & | Ht F=1 Srar g
1. Vitamin B / fdeTfa- &t
2. Vitamin D / faeTfi €t
3. Vitamin C / fqeTioe 9t
4. Vitamin A / et T

Correct Answer :-

« Vitamin ¢ / faerfa= o

Name the vitamin formed from carotene, which is a vegetable pigment. /

FANNT G 9911 a1t faeTii &1 918 9914, St b 993t quie g1
1. Vitamin B / faeTiiq &t
2. Vitamin D / faeTi#q St

3. Vitamin C/ﬁ?lﬁl—"fm
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Correct Answer :-

e Vitamin A/ﬁ?ﬁl:fQ

4) Name the duct formed when the cystic duct joins with hepatic duct. /

39 fAftfa et &1 9 sarg w19 faem ot (Rifes sae), apq aifg+i @ufes s &
1Y JS STl 3

1. Hepatopancreatic duct / TH TR dlfe! (RPIfh3ied Sae)
2. Pancreatic duct / SFATRIIIE dTig-1 (Ufsheifes SaT)

3. Common bile duct / G U d1fgt (BT T13d TK)

4. salivary duct / TRI a1t (Aferdht o)

Correct Answer :-

« Common bile duct / g U1 aIfg=it (H1H I3 SK)

5) Dermatitis, diarrhoea and dementia are symptoms of the deficiency of: /

TARIY, 3 SR AR =1 o1 Bt & deor 7
1. Vitamin A/ fdCT®= A

2. Vitamin ¢ / faeTi®= ¢

3. Vitamin B3/ facTfi 83

4. Vitamin K/ fqeTi®e «

Correct Answer :-

« Vitamin B3/ fdeIf¥A B3

6) The circular muscle found at the junction of stomach and duodenum is: /
Ye 3R YT $t WY W g W arell e R AU e gt 8:
1. Anal sphincter/&ﬁﬁﬁ@

2. Cardiac sphincter / W%W Sy

3. Meissner’s plexus /WW

4. Pyloric sphincter/WﬁT&[ SRt

Correct Answer :-

o Pyloric sphincter / SoX T et
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T GRT IUANT farar 9iM ara "afd Ao faftr el PR feagw) 82
1. CopperT/ﬁW?ﬁ

2. Diaphragm / SIATHTH
3. Condom/m
4. Oral pill / @ TSl (3R fUar)

Correct Answer :-

e Condom / HeH

Which of the following is an exocrine secretion? /

fFrafafaa & Q F19 ve 99 w9 @@ e HAbe) 82
1. Oxytocin / SR
2. Saliva/ dR

3. Thyroxine / UI%?TV@FT
4. Vasopressin /ﬁﬁﬁﬁ

Correct Answer :-

e Saliva/dR

The mass of neurons in the peripheral nervous system is called )
ey dfeT o & dieT sifkres (RRT=T) & sowE &t GG
1. nuclei /aO_'Q' (“PFIT&C)
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3. nerves / GiEA®I (Tq‘)

4. ganglia /WGH (m)

Correct Answer :-

o ganglia /WW (‘T@qﬁ'\q)

11) A population having mostly younger age group means its ./
STEET § ATRIBIRIG: gaT 3g avf & il & g1 &1 3 g fp

1. death rate is high / g @ B?GT%I

2. both birth rate and death rates are equal / STH aX \3‘ﬁ? HY X Z‘a:ﬁ HHTT %I
3. birth rate is high / 57 &3 3= g

4. birth rate is low / SH SR A |

Correct Answer :-

« birth rate is high / S/ G I 8|

12) The cause of ovulation in female is attributed to: /
HTET H SSIeT &1 HRUI = &) WHT o1 8:

1. inhibit FSH and stimulate LH secretion by anterior pituitary only /

Had 3R UG (TEIRER fieesl) §RT Th U &1 AHT 3R TATd Hd Bl Iiferd
BT

2. All of these / STgad Tt

3. increase salt concentration of the liquor folliculi only / Had [Th Jc (tb‘”r%agaﬁ) & qaul
gigur 4 qfg |

4. increase in osmotic pressure and rupture of the Graafian follicle only /

DI IR &1 H g 3R AT Yoo (Nha hiiddd) &1 ged|

Correct Answer :-

o All of these / ij?ﬁ Tt

13) The best method to overcome inbreeding depression is: /

3 Yo+ AT (TSI FEURM) Bt g H BT JTH 3BT Rl &

1. Cross breeding / R UoT=+ (19 sfifeT L
www.FirstRanker.com
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3. Out crossing / S1g:FHT (ITIC HIRIT)
4. Interspecific hybridization / SARTSITCT HhUT (WW HEES 361, L)

Correct Answer :-

« Out crossing / CIRRIEEU| (3H13<C ?ﬁﬁ'ﬂ)

14) Which one of the following is NOT included under in-situ conservation? /
fFrafafad ¥ 9 o9-91 57 Hfig<iReur & agd AT 81 82

1. National parks / QTQTH 3l

2. Sanctuary / WRTY

3. Sacred groves /triﬁsr 3Ud-d

4. Botanical garden / G- TRUTd I

Correct Answer :-

 Botanical garden / I I

15) Which of the following is NOT a feature of the Neanderthal Man? /
Frufafea # & s-9t Fistyd a9 9t foRtvar 781 32

1. Used hides to protect their body / 30 IRR Dt Rl & T IS &1 HaNT HRd Y|
2. Developed cave art / dfs\lq T hdl &1 fasiyd faar|

3. They buried their dead / CROLE] decb\l'ﬁ le'-lla |
4. Brain size -1400 cc / AT BT STHR - 1400 AT

Correct Answer :-

« Developed cave art / REAE T Hcl &1 fasiyd faar|

16) Which of the following taxonomical aids provides information for identification of names

of species found in an area? /ﬁ'ﬁmﬁﬁ'\ﬁﬁ:{-wm (éﬂ'\‘ﬁqﬁW) HeldD,
forft & o urd S arelt wenrfaat & 9 & ugard #3A 8 SR USH $Rdl 82

1. Manuals / o9 Qe (H31a)
2. Catalogues /aﬁa? BV (mﬁ[)
3. Flora / 9%01d THg (FART)
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Correct Answer :-

- Manuals / FoH Qe (H31d)

17) The correct sequence of Hierarchy in biological classification is: /

e Fiffeor § ugrgHd o1 98 $H &:

1. Kingdom, Class, Order, Phylum, Family, Genus, Species / SI{d, an, 01, 9, P, 997, ST
2. Kingdom, Order, Class, Phylum, Family, Genus, Species / SI¥d), 0T, an, Iy, D, CEY St
3. Kingdom, Phylum, Class, Order, Family, Genus, Species / SI¥Id, 9, an, T, & d, G ST

4. Kingdom, Family, Class, Order, Genus, Species / STId, P, an, 0T 9, STt

Correct Answer :-

« Kingdom, Phylum, Class, Order, Family, Genus, Species / SIId, 9, an, T, 9 d], CE St

18) The system which fails in a person with AIDs is: /
Usd 91d afed d 98 @7 (Rvew) fawa gt sman &:

1. Digestive / Ul

2. Pulmonary/w (W)

3. Nervous / QAT
4. Defence / UfcIR& (%W)

Correct Answer :-

« Defence / UfaRef (%W)

19) Which of the following is the vascular connection that exists between digestive tract and liver? /
FrafifEd § @ S daght Gay € S ure 7rf SEefRd 3ae) 3R agpd & 4 Hisg giar 82
1. Hepatopancreatic duct/ %ﬁmw

2. Renal portal system /W@éﬂﬁl@

3. Hepatic sinusoids /%’Wm—i’ﬁ
4. Hepatic portal system / 8P UIcd ReH

Correct Answer :-

C o

o
e HepdlcC portal system / oIlg4? |ICKTIXIxeH
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3. Crocodiles / HIRHS
4. Tortoise / PGS

Correct Answer :-

o Crocodiles / HIRH=Y

24) Which of the following is NOT a treatment for cancer? /
Frafafed & § $19-91 FR o1 ga™ 78 72

1. Chemotherapy / DHIHIRYT

2. Physiotherapy / Hifad fforear (rforraRd)

3. Immunotherapy / UTaR&f fafdam (WW)

4. Radiation therapy / fafRur ferfrea

Correct Answer :-

« Physiotherapy / Hifae fafee (WW)

25) A population showing higher rate of birth than the mortality rate indicates: /
U X B g1 A o P I o ST aTell 53 =i 3:
1. Fluctuating growth / qﬁﬁ?ﬁ@@

2. Declining growth / SIHHIT Q'@
3. Zero population growth / [ ST Ci‘la

4. Exponential growth / ERCIGIEIL Q'@

Correct Answer :-

« Exponential growth / TRATIPI Q'@

26) After gel electrophoresis, the separated DNA fragments can be visualized only after:

/

S dggdPURIgaH & UYTd, JYF U ST Gel (hiHe) it had & UYTd Hicud fear

o HHdT ¢

1. Staining in ethidium bromide followed by exposure to UV light as bright orange coloured bands
/
RIS UehTR] & XU B T I TSI IR I & o8 & X0 § TS gEs o
SRS
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RIS fafhR01 & WU & 3§ 1 T 6 o8 & © 0 T AYTSei s 7 SRS
3. All of these / STGat Tt

4, Staining in ethidium bromide followed by exposure to UV light as blue coloured bands /

RIS b1 & 0D & 3 I Hid T P o8 & U # Tfegy sHss 7 iftReH

Correct Answer :-

« Staining in ethidium bromide followed by exposure to UV light as bright orange coloured bands

/
RIS UhT & U | 31 A IHG I TR T 6 §8 & U § TS sgs o
SRS

27) Amniocentesis, a prenatal diagnostic test used for determining foetal sex, genetic
anomalies and biochemical abnormalities, is based on: /

TR, yur & i, smgaifdre faxinfaal ik g Iamafae srma=arsi & RuiRa s &
fore vt forar S 9T U wId qd e udteor R 3Tyt BT 81

1. The karyotyping in the amniotic fluid / @’Cﬁ% wRAH TUIRAU=Y (%I?q CIIu)
2. Chorionic villus sampling / SIS fae Jufem
3. Umbilical cord blood sampling / CIIE o] Xdd Jofei

4. Ultrasound / 3{cgAT3US

Correct Answer :-

 The karyotyping in the amniotic fluid / m wRAH TUIRAU=Y (mﬁﬂ)

28) The fast block to polyspermy occurs due to the: /

ggtorar (ureeuT) & e wie <fe e & SR g 3:

1. Inactivation of binding receptors on the vitelline membrane / W %Iﬁﬂ (ﬁ%ﬁ*ﬂ ﬁ@q) O
SYTBRI ATRITSl B Afshad

2. Influx of Na* and the out flux of Ca* / Nat &7 3f<iaig 3R Ca* &1 dfgafg

3. Influx of Na* and depolarization of ovum membrane / Na* @ 3f<idafg 3R f&a frcelt &1 fagaur

4. Outflux of Na* and depolarization of ovum membrane / Na* &1 dfgaig 3R f&d fRreeh &1 fagao

Correct Answer :-

 Influx of Na* and depolarization of ovum membrane / Nat &1 &raafg 3R f&a f%lc—cﬁ Eal ﬁgam
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12) Choose the option that best transforms the given sentence into its comparative degree:
The mango is the most nourishing of all fruits.

1. The mango is so nourishing of all fruits.

2. Some fruits are less nourishing than the mango.

3. No other fruit is as nourishing as the mango.

4. Very few fruits are more nourishing as that of the mango.

Correct Answer :-

« No other fruit is as nourishing as the mango.
13) Choose the option that best transforms the given sentence into its active form:
A heavy loss might be suffered by her.

1. She might be suffered with a heavy loss.

2. She may suffer a heavy loss.

3. She might suffer a heavy loss.

4. A heavy loss might be suffering by her.

Correct Answer :-

« She might suffer a heavy loss.
14) Choose the option that best transforms the given sentence into its passive form:
People worldwide are harnessing the power of frozen streams.

1. The power of frozen streams are being harnessed by people worldwide.

2. The power of frozen streams are harnessed by people worldwide.

3. The power of frozen streams has been harnessing by people worldwide.

4. The power of frozen streams is being harnessed by people worldwide.

Correct Answer :-

« The power of frozen streams is being harnessed by people worldwide.

15) Choose the option that best transforms the given sentence into its superlative degree:
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4. needs not

Correct Answer :-

e need not

25) Choose the suffix that best fits in the given sentence:
Real __is not often shown in movies.

1. -ity

2. -ness

3. -istic

4. -ly

Correct Answer :-

26) Choose the correct form of phrasal verb for the given sentence:

The whole city to welcome Vishwanathan Anand.
1. turned out

2. went out

3. stepped in

4. fell out

Correct Answer :-

« turned out

27) Read the passage carefully and answer the question given below:

Amit tried switching on his ancient PC but to no avail, he had been trying to switch on the system
several times since he woke up but the machine got the better of him and refused to budge.
Sipping over his morning brew he spoke to his wife about his travails. His system had been his
lifeline; he composed his magazine on his old and sluggish machine which took ages to swing
into action. He eyed the machine which stood motionless; once again bringing up the topic with
his wife he told her that probably he had forgotten to switch off his PC properly that’s why it
failed to start, slowly his wife opened up about it saying that in the morning she was doing some
of her personal office work when she had used the device and once she had to take up her
kitchen chores she logged off and gone out, the explanation made Amit’s face worth looking at.

Which device is the passage talking about?
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2. Laptop
3. Personal Computer

4. Mobile

Correct Answer :-

e Personal Computer

28) Read the passage carefully and answer the question given below:

Amit tried switching on his ancient PC but to no avail, he had been trying to switch on the system
several times since he woke up but the machine got the better of him and refused to budge.
Sipping over his morning brew he spoke to his wife about his travails. His system had been his
lifeline; he composed his magazine on his old and sluggish machine which took ages to swing
into action. He eyed the machine which stood motionless; once again bringing up the topic with
his wife he told her that probably he had forgotten to switch off his PC properly that’s why it
failed to start, slowly his wife opened up about it saying that in the morning she was doing some
of her personal office work when she had used the device and once she had to take up her
kitchen chores she logged off and gone out, the explanation made Amit’s face worth looking at.

Give the opposite word of Sluggish.
1. Hot

2. Slow

3. Fast

4. Sharp

Correct Answer :-

29) Read the passage carefully and answer the question given below:

Amit tried switching on his ancient PC but to no avail, he had been trying to switch on the system
several times since he woke up but the machine got the better of him and refused to budge.
Sipping over his morning brew he spoke to his wife about his travails. His system had been his
lifeline; he composed his magazine on his old and sluggish machine which took ages to swing
into action. He eyed the machine which stood motionless; once again bringing up the topic with
his wife he told her that probably he had forgotten to switch off his PC properly that’'s why it
failed to start, slowly his wife opened up about it saying that in the morning she was doing some
of her personal office work when she had used the device and once she had to take up her
kitchen chores she logged off and gone out, the explanation made Amit’s face worth looking at.

What was Amit drinking in the morning?
1. Coffee

2 \\ater
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4, Coke

Correct Answer :-

o Coffee

30) Read the passage carefully and answer the question given below:

Amit tried switching on his ancient PC but to no avail, he had been trying to switch on the system
several times since he woke up but the machine got the better of him and refused to budge.
Sipping over his morning brew he spoke to his wife about his travails. His system had been his
lifeline; he composed his magazine on his old and sluggish machine which took ages to swing
into action. He eyed the machine which stood motionless; once again bringing up the topic with
his wife he told her that probably he had forgotten to switch off his PC properly that’'s why it
failed to start, slowly his wife opened up about it saying that in the morning she was doing some
of her personal office work when she had used the device and once she had to take up her
kitchen chores she logged off and gone out, the explanation made Amit’s face worth looking at.

What is meant by “the machine got the better of him"?

1. It scolded him.
2. It defeated him.
3. It thrashed him.

4, It insulted him.

Correct Answer :-

o |t defeated him.
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